Answer: Public Goods

Ans. 1 

If large truck operators are not forced to pay for damage to roads, their optimal choice of miles is given by: 
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The societal optimum number of miles corresponds to: 
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 The marginal external cost for this level of operation is: 0.05(487.80) = $24.39. This implies the optimal fee Econoville should charge for truck operation is $24.39 per thousand miles.  

If truck profitability increases, the new societal optimum for miles is given by: 
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 This implies that optimal fee is 0.05(731.71) = $ 36.5855 

Ans. 2
(a) Ratio of Bonnie’s marginal utility of hours of work to her marginal utility of

private goods −.04H. Ratio of Clyde’s marginal utility of hours of work to his marginal utility of private goods −.01H.
(b)  .05H. they will make $50 extra
(c)  .05H = 50. Pareto optimal H = 1, 000. 
Ans. 3

(a) If every citizen of Jumpo gets 20 lessons, total government expenditures on lessons = 120 million fondas. Every citizen have to pay 40 fondas.
If 20 lessons are given, rich creature have  60 fondas left to spend on bread. Poor has 10 fondas left.

(b) Total cost to the government is 6 million times x and the taxes that one creature has to pay is 2 times x.
(c) Rich people prefer to have supplied 25 lessons. Poor prefer 12.5 lessons.

(d) Majority rule, 12.5 lessons will be provided. Rich gets 75 loafs. Poor gets 25 loafs
(e) Same method as in (c). Rich get 25 lessons and 50 loafs. Poor get 12.5 lessons and 25 loafs
(f) There are 2,000,000 poor and 1,000,000 rich, 
total revenue is 2, 000, 000(1.5A + 1, 000, 000(3A = 6, 000, 000A.
There are 3,000,000 people in all. If each gets A lessons and lessons cost 2 fondas, total cost is 6, 000, 000A.
(g) A rich person’s budget: 3A + B = 100. A poor’s budget: 1.5A + B = 50. 
With these tax rates, the rich favors 50/3 lessons. The poor favors 50/3 
lessons. 50/3 lessons will be chosen by the majority rule. 

Rich get 50 loafs of bread.  Poor gets 25 loafs
(h) A rich creature’s utility under a head tax = √937.5. Under privatization = √1, 250. Under a proportional income tax = √833.3. 
A poor creature’s utility under the head tax = √312.5. Under privatization = √312.5. Under the proportional income tax = √416.67. 
(i) Is privatization Pareto superior to the head tax? Yes. 
Is a proportional income tax Pareto superior to the head tax? No. 
Is privatization Pareto superior to the proportional income tax? No. 
Rich prefer privatization, poor prefer proportional income tax. Neither are Pareto superior to the other.
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